Introduction to Finance

BUSFIN 1030

Professors Schlingemann & Rossell

Problem Set 1

Due: Wednesday, September 20 before 4 p.m. in Mervis 324 (Pat Koroly)

GROUP WORK (maximum of 5 students) is encouraged!

Note 1: Only the odd numbered questions will be graded and need to be handed in. The even numbered questions serve as practice material !!!

Note 2: Download the Balance Sheet and Income Statement for Pepsico Inc. and Coca-Cola Inc. from the course web site for answering questions 1-15 (Download II).

1. Calculate the Cash Flow from Assets for Coca-Cola

2. Calculate the Cash Flow to Creditors for Coca-Cola

3. Calculate the Cash Flow to Shareholders for Coca-Cola

4. Show that the Cash Flow Identity works for Coca-Cola

5. Does Pepsico pay any dividends? If so, how much?

6. Is Pepsico a net raiser of cash from equity, or do they pay out to shareholders on a net basis?

7. Summarize the sources and uses of cash for Pepsico Inc. and categorize into operating activities, investment activities, and financing activities.

8. How can you check whether your cash flow statement from question 7 is correct?

9. As a financial manager, should you worry about the negative net income of Coca-Cola?

10. Which firm has invested more in net working capital?

Consider the following other information next to the information on the Balance Sheet and Income Statement for Pepsico Inc. and Coca-Cola Inc.:

Number of Shares outstanding for Pepsico = 110 million, current share price = $54

Number of Shares outstanding for Coca-Cola = 100 million, current share price = $69





Schweppes Softdrinks
Microsoft
Softdrink Industry Avg.

Current Ratio



1.23

    1.57


1.09

Quick Ratio



1.06

    1.01


1.02

Total Debt Ratio



0.51

    0.13


0.59

Times Interest Earned


3.45

    45.7


4.47

Day's Sales in Inventory


28

    61


29

Receivables Turnover


6

    3


6

Total Asset Turnover


0.73

    0.45


0.89

Profit Margin



0.08

   0.14


0.09

Return on Equity



0.24

   0.24


0.24

P/E ratio




2.5

   38.4


2.8

Use the above information plus the specific information for Pepsico and Coca-Cola to analyze the performance for both firms. Make sure you use all relevant information, yet be concise and detailed, and ignore irrelevant information. Use all relevant benchmarks in your analysis.

11. Analyze and interpret the liquidity of Pepsico in 1999.

12. Analyze and interpret the solvency of Pepsico in 1999.

13. Analyze and interpret the asset management of Pepsico.

14. Analyze and interpret the profitability of Pepsico.

15. Interpret and comment on the P/E ratio of Pepsico.

Other Questions

16. Suppose your business has gone bankrupt.  After selling all of your business's assets, your business still owes $250,000.

a.
Suppose the business is organized as a limited partnership in which you and your partner each supplied 50% of the initial $200,000 investment.  If you are the general partner and the other partner is a limited partner, how much of the $250,000 do you owe and how much does your partner owe?

b.
How much of the $250,000 do you owe if the business is organized as a sole proprietorship?

c. Suppose the business is organized as a corporation in which you own 50% of the shares outstanding purchased for $200,000 when the company went public.  How much of the $250,000 do you owe?

17. Your friend started a successful indoor golfing range in Pittsburgh five years ago. She is currently the sole owner of the business.  After much thought she has decided to expand her business to other markets within the U.S.  She realizes such an expansion requires additional capital.

a. Would you recommend that she change the organizational form of the company? If so, which type of organizational form should the business take?

b. What are the advantages of this form over the current organizational form of the business?  

c. What are the disadvantages?

d. If you recommend not changing the organizational form, what are the advantages and disadvantages to your friend remaining a sole proprietorship?

e. Describe some mechanisms that exist to alleviate agency conflicts within a corporation.

18. Clonetic Labs, Inc. has earnings before interest and taxes of $190,000. Interest expense for the year is $35,000 and the firm has declared that $50,000 in dividends will be distributed. Calculate the after-tax earnings for Clonetics assuming a 40% tax on ordinary income.

19. Newly released financial statements report that the firm's net income is $1 million, the book-value of shareholders' equity is $2.5 million, the number of shares outstanding is 1.5 million and the price per shares is $0.80.

i. How much are shareholders willing to pay for each dollar of earnings of the firm?

ii. What is the book-to-market ratio for the company?  Based on your answer, would you recommend buying this stock?  Explain.

Time Value of Money Questions

20. A famous running back just signed a $18 million contract providing $3 million a year for six years.  A less famous running back signed a $14 million five-year contract providing $4 million now and $2 million a year for five years.  Who is better paid if the interest rate is 6%?

21. You believe you will need to have saved $500,000 for your supplemental healthcare account by the time you retire in 40 years in order to live comfortably.  If the interest rate is 4.5% per year, how much must you save each year to reach your retirement goal?

22. You have decided to buy a new BMW Z-3 the dealer will sell you for $44,000 with your trade in. The financing that the dealer is offering is a 5-year loan at 6.5% (APR) and the first loan payment is due one-month from now.

a. 
Assume all loan payments are made at the end of the month.  Given the interest rate on the loan, what is your monthly payment?

b. By making fixed monthly payments on your loan, you are repaying the principle amount over five years.  This process of paying off a loan by making regular principal reductions is called amortizing the loan.  For your first monthly loan payment, what amount of your payment goes to repaying your principle and how much to repaying your interest?  

c. How much of your principle have you repaid after three months?

23. A piece of equipment costs $500,000.  You forecast that it will produce cash inflows of $100,000 in Year 1, $250,000 in Year 2, and $300,000 in Year 3.  The opportunity cost of your firm's capital (interest) is 12% per year.  Should you buy this equipment?

24. You have just opened the mailbox and found your annual entry form for this season's Publishers Clearinghouse sweepstakes in which ten million dollars will be given away in the "Superprize".  Before you send in your winning entry, however,  Publishers wants you to make a tough decision.  How do you want the money?  Here are the options listed (notice the amount paid always adds up to $10 million):

Option 1.
United States Treasury bonds issued in your name which, if held to maturity, will pay $250,000 a year for 30 years, plus a final payment of $2.5 million in the 30th year (250,000(30+2.5 million = $10 million).

Option 2.
$1 million cash now, $200,000 yearly payments at the beginning of the next 30 years (i.e., the first $200,000 is made in 12 months) plus a $3 million payment in the 30th year (1 million+200,000(30 +3 million = $10 million).

Option 3.
$500,00 now, $250,000 yearly payments at the beginning of the next 28 years   (i.e., the first $250,000 is made in 12 months) plus a $2.5 million payment in the 30th year (500,000 + 250,000(28+2.5 million = $10 million).

Assume all payments come in at the beginning of the year.  Thus, the first yearly payment is made 12 months from now and the payment in year 30 is made 30 years from now.  The relevant discount rate on long-term guaranteed cash flows such as those described above is 7 percent per year compounded semi-annually.  

Taking into account the time value of money, which option would you choose and why?
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